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QUESTION 1

Caller A is on a VoLTE call with Caller B. Suddenly Caller A is no longer able to hear Caller B but Caller B can hear
Caller A. 

Which two call legs and directions should be analyzed first in this scenario? (Choose two.) 

A. the Caller B downlink 

B. the Caller A uplink 

C. the Caller A downlink 

D. the Caller B uplink 

Correct Answer: CD 

 

QUESTION 2

Which two statements are correct about voice quality in a VoLTE network? (Choose two.) 

A. Increasing jitter will improve voice quality. 

B. Increasing silent gaps in the received audio signal will improve voice quality. 

C. Decreasing jitter will Improve voice quality. 

D. Decreasing silent gaps in the received audio signal will improve voice quality. 

Correct Answer: CD 

 

QUESTION 3

Review the exhibit. 
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An operator\\'s LTE single layer network has a cell not carrying enough traffic. To increase the traffic carried by the cell,
the operator decides to modify the Idle mode behavior of the cell. Values for the qRxLevMin and qQuaimin parameters
are currently set to -120 dBm and -12 dB. Referring to the exhibit, which two configurations would be used to potentially
increase the traffic carried by this cell? (Choose two.) 

A. Set the qRxLevMin parameter to -117 dBm. 

B. Set the qQualMin parameter to -15 dB. 

C. Set the qQuaiMin parameter to -9 dB. 

D. Set the qRxLevMin parameter to -123 dBm. 

Correct Answer: BD 

 

QUESTION 4

A user is participating in an IR.92 compliant VoLTE call. 

What is the Quality of Service Class Indicator (QCI) of the bearer that carries SIP signaling? 

A. QCI 1 

B. QCI 2 

C. QCI 8 

D. QCI 5 
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Correct Answer: D 

 

QUESTION 5

What is a purpose of Radio Resource Management (RRM) parameter optimization tools? 

A. coverage predictions 

B. azimuth adjustment 

C. geo-location procedures 

D. traffic balancing 

Correct Answer: D 
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